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1. Conmdeigle end b@havmr description below.
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Which function satisfies the given conditions?
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2. Which graph has the following characteristics?
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3. A sketch of #{x) is shown below.

An equation for 7(x) could be
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4. Which graph best represents the graph of fx) = (x + @)*(x - b), where a and b are positive real
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5. Which graph has‘ imaginary roots? lF W{/ﬁn d/vj [OA.__S U/dﬂql
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6. Which quadratic functions have imaginary roots?
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8.Is x+2 afactor of p(x)=x"—3x"—8x+4? Explain your answer.
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9. Which binomial is not a factor of the expression x° —6x> —49x—66?
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10. Which binomial is a factor of the expression x* —7x—62
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11. Given p(x)=6x" +31x> +kx—12, and x+4 is a factor, find the value of k.
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:-(EZ. Consider the polynomial p(x)=x’+kx—30. Find a value of k so that x+3 is a factor of P.
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13. Sketch the graph of a polynomial function whose factors are (x+1), (¥—4)%, and (x+2).
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14. Sketch the graph of a polynomial functions whose zeros ag€ -5, £2, /—2, nd 6.
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17. Solve for x:
x +6x 4x+24

18. Solve for x:
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